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General Instructions :
(i)  The question paper comprises two sections, A and B. You are

to attempt both the sections.

(i)  All questions are compulsory.
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(iii)  There is no choice in any of the questions.

(iv) All questions of Section-A and all questions of Section-B are
to be attempted separately.

(v)  Question numbers I to 3 in Section-A are one mark questions.

These are to be answered in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section-A are two marks

questions. These are to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section-A are three marks

questions. These are to be answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section-A are five marks

questions. These are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section-B are multiple choice
questions based on practical skills. Each question is a one
mark question. You are to select one most appropriate

response out of the four provided to you.

(x)  Question numbers 34 to 36 in Section B are two marks
questions based on practical skills. These are to be answered
in brief.

HIT-A
Section-A

1. va oEerdE v ¥ g wee w1 A R g fufee e ame g
CnH2n+2%| 1

Write the name and formula of the 2nd member of homologous

series having general formula C \Hy, 5.
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2. wHAA YUl g a4 Sffersit s saedF o grar @ s it

What is the magnification of the images formed by plane mirrors
and why?

3. Torslt <19 i godr 1 = aref 27

What is meant by power of a lens?

4. ToEvea 3R sgEved & off9 31 3T drforshl & &9 H fafau|

Write two differences between binary fission and multiple fission in
a tabular form.

5. (a) 394 EETEHA] FT Yoo Hd THT 85 TIaUH & i STavaehdl 1
87

(b) ST THIEAT % Yowaq § defanticrsr e i 24T Sfeu|

(a) Why do we need to manage our resources carefully?

(b) Why management of natural resources requires a long term

perspective?

6. AT = wLErr % fore fop ST aTet = 3yt i gEt SR

List four measures that can be taken to conserve forests.

7. Na, Mg 3R Al ek 7d TRUA & T &1 37Ed & 98 acd © oHH
GATSTohdT SAd2I1 h) TEAT AT T, o 3 = 8| 54 acai 4 (i) foreranl
gy e sifiream R, (i) F9 do@ FH sifufEmamiia 27 T s
¥ foru s I At R gfgq of Fifsw
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Na, Mg and Al are the elements of the same period of Modern
Periodic Table having one, two and _three valence electrons
respectively. Which of these elements (i) has the largest atomic
radius, (ii) is least reactive? Justify your answer stating reason for

each case.

8. fFTaRYME: 3
4Be; oF; 19K 5oCa
TH ¥ (i)%mgﬁqﬁﬁmﬁmﬁmﬁﬁ?%, (i) FAH
o % 9 e IR T K T A X (2,8,7) % WA H 5 A
et @ 7 fafey
From the following elements :
+Be; oF; 19K 5Ca
(i) Select the element having one electron in the outermost shell.
(i1) two elements of the same group.

Write the formula of and mention the nature of the compound

formed by the union of (K and element X(2,8,7).

9. maEEd ¥ wT awad 27 A, C,Hy, F I gHEEE H G H
wﬁqnmﬁﬁq%qﬁm%%%@?ﬁ?m%ﬁmaﬁqﬁa
gerd | 3
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What is meant by isomers? Draw the structures of two isomers of

butane, C,H,,. Explain why we cannot have isomers of first three

members of alkane series.

10. mﬁﬁwwwﬁm%mﬁﬁwwﬁm%?w
BT HHTE i ke 1 s Hifd

What is the difference between the molecules of soaps and

detergents, chemically ? Explain the cleansing action of soaps.

11. I9 Tl I 77 §7 (1) Sftamy sif¥a @ (i) arrE g 20 gafe
ﬁﬁﬂm%aﬁm?ﬁwwlmﬂ?ﬁ%ﬁﬁ#ﬁmﬁw
m%mmw%,mﬁ%qﬁwé@aﬂﬁm

What are sexually transmitted diseases. List two example of each
diseases caused due to (1) bacterial infection and (ii) viral infection.
Which device or devices may be used to prevent the spread of such

diseases.

12, .0A.U. gftepfa 27 T HE I Soorg Hifm

What is DNA copying ? State its importance.

13. mmwﬁmﬁmﬁwﬁwﬁm|

Explain budding in hydra with the help of labelled diagrams only.

31/1/2 6



14. STfd 359 @ 1 Acqd 27 Sfd 3g9a % for Seeereh = st o g
ELIE

What is speciation? List four factors responsible for speciation.

15. (i) womfe, e, e 3 Howeh aeft § 33 g1 3| & o T
it =1 T wr R s e w0 e

27 317 3 Sl gfE Fifs
(i) “‘wferi @1 e wigal @ g3m R17 3@ S % gE S Ty :
EIE 3

(1) Planaria, insects, octopus and vertebrates all have eyes. Can we
group eyes of these animals together to establish a common

evolutionary origin ? Justify your answer.

(i1) *“Birds have evolved from reptiles”. State evidence to prove the

statement.

16. &1 o YT TR 3197 it o grer g 3 ureh o fefaes o m)
gl o WY deH-A w e i Mot st fessi § O
Tk o U IS I < IvETd 39 i 3 se-e AisH 3N s
=1 ARl 1 T hich 3 ST hl ATSHT SHTS 0 Th3T o 378 i &1
UE 0 H UF| 364w g8 aeH-al o well % foem @
AR 1 el IR fesel & o0/ +h 9% & Hi W W@ FAW: B
HR AT FHeeME1 3 TIeH 1 gad )
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(2) mﬁwﬁwﬁm?ﬁa@ﬁaﬁwaﬁ@%ﬁwﬁﬁ
et faf 87 ®ii? THW EA GAY MY IR F A
ferfiam '

(b) vﬁaﬁiu@ﬁﬁwr@ﬁﬁiﬂ?ﬂmw&m‘é?

After the examinations Rakesh with his friends went on a picnic to
a nearby park. All friends carried cooked food packed in plastic
bags or plastic cans. After eating the food some friends collected
the leftover food and plastic bags etc and planned to dispose them
off by burning. Rakesh immediately checked them and suggested
to segregate the leftover food and peels of fruits from the plastic
materials and respectively dispose them off separately in the green

and red dustbins placed in the corner of the park.

(a) In your opinion, is burning plastic an eco-friendly method of
waste disposal? Why? State the advantage of method suggested
by Rakesh.

(b) How can we contribute in maintaining the parks and roads neat

and clean ?

1% wwmﬁhﬁ%ﬁ%ﬂaﬂaWﬁwWﬁ%%lgmﬁ
@rwwaﬂ%%%aﬁwﬁmﬁq%wﬁﬁsﬁiwﬁm
£ < | 76 SR A A Feret g e S 3 § e & e
E%tpﬁ%mﬁ%m%ﬁ&lﬁﬁﬁﬁﬁww 10 cm HIhd
g % Haqd I 15 cmaﬁmﬁ%%ﬁﬁm%ﬁﬁwmaﬁ
e =1 wepfar s ferfes Jma & A il
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18.

19.

20.

31172 9 [P.T.O.

To construct a ray diagram we use two 1ays of light which are so
chosen that it is easy to determine their directions after reflection
from the mirror. Choose these two rays and state the path of these
rays after reflection from a concave mirror. Use these two rays to
find the nature and position of the image of an object placed at a

distance of 15 cm from a concave mirror of focal length 10 cm.

iR T 1 T § = it ik gae T It & 9
ot T i} et e 27

With the help of a labelled diagram, explain why the sun appears

reddish at the sun-rise and the sun-set.

fopeft et < | @ 30 cmaﬁm@muﬁﬂwﬁquﬁﬁmﬁﬂ%
E@W%H%W F% 9 60 cmﬁaﬂmf@lﬂﬁfﬂm%léﬁ
Fr wepR 1 BIY saﬁtﬁwaﬁqﬁm%ﬁﬁﬁmuﬁwﬁm
3 em 2, 1 g wfafees A Sweg s Al

The image of a candle, flame placed at a distance of 30 cm from a
spherical lens is formed on a screen placed on the other side of the
lens at a distance of 60 cm from the optical centre of the lens.
Identify the type of lens and calculate its focal length. If the height
of the flame is 3 cm, find the height of its image.

(a) m%m%ﬁm%ﬁmf”ﬁﬁmm%ﬁﬁamﬁ
Waﬁﬁqaﬁ?ﬁaﬁaﬁmﬁw#wmé@aﬁaﬁ
AT sTe fafa|



21.

(b) AT ‘A 3R B’ % T SdedATH HH: 2.0 3 1.5 813l
ey B’ yeRre sl = 2x 108 m/s ®, @l
(i) Fafa,
(ii) =meTm ‘A’
# wepTeT <l ATl aiehfad FIfST)

(a) State the laws of refraction of light. Explain the term absolute
refractive index of a medium and write an expression to relate it

with the speed of light in vacuum.

(b) The absolute refractive indices of two media ‘A’ and ‘B’ are 2.0
and 1.5 respectively. If the speed of light in medium ‘B’ is

2% 108 m/s, calculate the speed of light in :

(i) vacuum,

(i1) medium ‘A’.

Fré TE T 4 m gl W o v W o seRl 1w T
rem| % B v gfE-2 & vife @ 3we 7w fafav) 58 2 & s
%} faftr =it =men i 39

(i) gfe-=r e

(ii) T5% TN

1 g 3 fere feror a1 i)

A student is unable to see clearly the words written on the
blackboard placed at a distance of approximately 4 m from him.
Name the defect of vision the boy is suffering from. Explain the
method of correcting this defect. Draw ray diagram for the :

i) defect of vision and also




22, s i i FE ged: Feeds Ry g € R w1 R
o w21 e g STt g # At w1 P Ry S
Wwﬁﬁﬁmﬁmﬁmlmaﬁﬁqﬁmﬁmﬁm
71 aedl & wny e e o @ e €l 5

Explain why carbon forms compounds mainly by covalent bond.
Explain in brief two main reasons for carbon forming a large
number of compounds. Why does carbon form strong bonds with

most other elements?

23. mﬁﬁqw@%mﬁsﬁ%ﬁ%%?aﬁﬁ%n-@g%@:ﬁaﬁmw
27 el 3 femT-uat fFe Yo 3 B &7
“%ﬁwmw%ﬂ,mm%waﬁ(w—ﬁm)ﬁﬁ%&ﬁ
ﬁﬁwﬁmmﬁaﬁmwmx”waﬁmﬁgﬁz%
mmm%ﬁ%nﬁuﬁmaﬁmaﬁwﬁaﬁmaﬁ@ﬁw
it 5

How many pairs of chromosomes are present in human beings?
Out of these how many are sex chromosomes ? How many types of
sex chromosomes are found in human beings?

“The sex of a newborn child is a matter of chance and none of the
parents may be considered responsible for it”. Draw a flow chart

showing determination of sex of a newborn to justify this

statement.
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24, HHE HIET A 99 ° FEfdafgd & faiau:
VST, -STigehT, THII

U1 1 Hi o SO A o7 fore Wb 9w S 27 Hard § i it

Write the functions of the following in human female reproductive

system :
Ovary, oviduct, uterus

How does the embryo get nourishment inside the mother’s body ?

Explain in brief.

HAT-d

Section-B

25. Tt B 3 fou u 3o o gw Tl g fama w1 fag widferst
78 W yTH o foran 21 38 oiF i BreRE g J1a A 6 g 38 A
TR :

(A) Fae o 9 fawe % st 61 gl

(B) %hae &9 g Ua o o= sl gl

(C) e fora 3 whtifors o sfter 1 gl

(D) S e 1 280 35 oo e o et 3 ofier ) gt o

31/172 12



A student has obtained a point image of a distant object using the
given convex lens. To find the focal length of the lens he should

measure the distance between the :
(A) lens and the object only

(B) lens and the screen only

(C) object and the image only

(D) lens and the object and also between the object and the image

26.=ﬂ%ﬁqmaﬁ(@mamﬁﬁﬁqﬁﬂgﬁﬁwﬁﬁwﬁgﬁw :

(A) @‘X’mﬁz&m%%ﬂ?ﬁmﬁwn cm @

(B) W‘X’wﬁm%ﬁmﬁqﬁwaﬁscm%
(C) IRF ‘X’ et 2dor & forgeht wrwd &l 12 cm ®
(D)gﬁﬁ‘){’saﬁa&w%ﬁaﬁtﬁrmaﬁncm%
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Study the following diagram and select the correct statement about

the device ‘X’ :

(A) Device ‘X’ is a concave mirror of radius of curvature 12 cm
(B) Device ‘X’ is a concave mirror of focal length 6 cm
(C) Device ‘X’ is a concave mirror of focal length 12 cm

(D) Device ‘X’ is a convex mirror of focal length 12 cm

31/1/2 14



ﬁﬁﬂmwmﬁ@ﬁﬁ%wq&
g A (£r), T
0T 1 Ta

27. ﬁa%ﬁ.@q%@ﬁaﬂ?ﬁmﬁ
m%,mﬁ@ﬁaﬁqm,wm(ﬁ),
aﬁwue)amﬁaaqﬁm(gmaiﬁﬁm1w%§mﬁq

ﬂﬁﬁmmé,ﬁm%

(A) £i 3 Lr
(B) Zi3N Le
(C) i, Le X LD
(D) i, £r 3R Le

15
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After tracing the path of a ray of light through a glass prism a
student marked the angle of incidence (1), angle of refraction (£r)
angle of emergence (Ze) and the angle of deviation (£D) as shown

in the diagram. The correctly marked angles are :

(A) Ziand Zr

(B) Ziand Ze

(C) 4, Zeand ZD
(D) 4i, Zrand Ze

28. R BHE P, Q, R 3 S ¥ %9 ¥ freht w9 & 40° ¥ 101 1 amafiye
BIohT Totel 9 oA ITedl wehret <1 faRvor 3 e =t it s staad—sor
<1 AT | 3T FT o T T - 18°; 22°: 25° 3 30° off| W
FEN ST FA AT BER
(A) P
(B) Q
(&) R
(D) S
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Four students P, Q, R and S traced the path of a ray of light passing

through a glass slab for an angle of incidence 40° and measured the
angle of refraction. The values as measured them were 18°; 22°;
25° and 30° respectively. The student who has performed the
experiment methodically is

(A) P

(B) Q

©) R

(D) S

29. Fct i 1 0 ¥ R e v Suerey e 21 AR g v fag e
(1) Eifeam FATES
(I wEifeam gehe
(1) i FAIEE
(IV) Shfcaas g
(V) difEm ase
(vI) Afifiem gethe

ﬁ%ﬁqmgmﬁ#mwﬁgﬁqﬁﬂﬂmwwﬁgﬁﬁ

T e ] AR ST Q0
(A) LIV

B8) LIV

(C) 1L IV, VI

(D) IL, IV, VI
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30.

Hard water is not available for an experiment. Some salts are given

below :

(1)  Sodium chloride
(II)  Sodium sulphate
(II1) Calcium chloride
(IV) Calcium sulphate
(V) Potassium chloride

(VI) Magnesium sulphate

Select from the following a group of these salts, each member of
which may be dissolved in water to make it hard.

(A) LILV

(B) LILV

(C) 1IL, IV, VI

(D) I, IV, VI

%&ﬁwﬁu@ﬁw-mmmﬁ%ﬁ%ﬁ@aﬂwﬁ
zo%ﬁ%ﬂﬁm@hﬂﬁgﬁamm|ﬁ%mﬁ¥idﬁa@ﬁwﬁq
e

0)) forerer # g W e forewr e 81 T

(1) A TTeeiETEE et § S g S S

(110) e & W SR STE & T W ST et B @

(IV) Wﬁ@ﬁmﬁwmwmﬁw
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(A) 1,111V

(B) I, 11 3TRIII

(C) Ml 3R IV e

(D) 13RI e

A student prepared 20% sodium hydroxide solution in a beaker to

study saponification reaction. Some observations related to this are

given below : ;

(I) Sodium hydroxide solution turns red litmus blue

AT O~ Alraeen hordravide readils Al nnalyrac in rater

2 g
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31.

32.

aﬁémﬁmﬁﬁzmmwéﬁmﬁZmLﬁaﬁam
W%Imm%wﬁmﬁmﬁﬁam@%t
%ﬁmt@ém%wsﬁaz%qﬁﬁa%ﬁWW%mw%mﬂ?ﬁ
.

(A)@ﬁﬁmﬁﬁr‘ﬁ:ﬁ@‘—r

(B) o S TRE e ferE

(C) Fé srEa St qell WA /IR
(D)tm“lﬁﬁmeﬁmmaﬁaﬁrw

A student adds 2 mL of acetic acid to a test tube containing 2 mL
of distilled water. He then shakes the test tube well and leaves it to
settle for some time. After about 5 minutes he observes that in the

test tube there is :

(A) aclear transparent colourless solution

(B) a clear transparent pink solution

(C) a precipitate settling at the bottom of the test tube

(D) a layer of water over the layer of acetic acid

sm B A, B, C3RDA it 3 = Ru T gl 1 FHSd R
w7 ¥ T 27

(A)mﬁnﬁaﬁﬁaﬁ#@

(B) =HTES AN FAR & T

(C) e 3w foeeht 3

(D) T, s IR fesgeRet % ST
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33

Four students A, B, C and D reported the following set of organs to

be homologous. Who is correct ?

(A) Wings of a bat and a butterfly

(B) Wings of a pigeon and a bat

(C) Wings of a pigeon and a butterfly

(D) Forélimbs of cow, a duck and a lizard

e w3 3 o 3 o 3 Fafr T B RS B 0 3 A B

= & it g

(1) e

() SR

(1) A

V) e

(V) e

T8 T U AEdTaS AR
(A) L 11, I

(B) 1L, TIL, IV

(C) 1L IV, V

(D) ILIV,V

31/172 21
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34.

A student indentified the various parts of an embryo of a gram seed

and listed them as given below :

(I) Testa

(I) Plumule

(I1T) Radicle

(IV) Cotyledon

(V) Tegman

Out of these the actual parts of the embryo are :
(A) 1, 11, III

(B) IL III, IV

(C) I, 1V, V

(D) 1L, IV, V

méﬂﬁwﬁ%mﬁ%fm%ﬁmaﬁﬁqﬁaﬁqwm
gﬁrﬁwaﬁﬁ?ﬂmﬁaﬁﬁﬁm%,sﬁéwéﬂﬁmaﬁm@ﬁ
St b fore 31 8 T e fafers TR S @1 T W 9
%ﬁi—%ﬁwﬁmﬁﬁﬂaﬁﬁnm%ﬁﬂawqﬁﬁmﬁqﬁm
FreRY T 2

(a) qﬁ%ﬁrﬁqﬁwmwaﬁﬁﬁ%ﬂaﬂxmm‘% - oH
1 27 Frerar o ¥ Y

(b) ﬁmaﬁuﬁﬁmmwm%,mmé?

() fares =1 9 % TEd R o ST W R I @7
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To find the image-distance for varying object-distances in case of a
convex lens, a student obtains on a screen a sharp image of a bright
object placed very far from the lens. After that he gradually moves
the object towards the lens and each time focuses its image of the

screen.

(a) In which direction — towards or away from the lens, does he

move the screen to focus the object?

(b) What happens to the size of image — does it increase Or

decrease?

(c) What happen when he moves the object very close to the lens?

35. maﬁaﬁﬁ@mﬁ%mwmm%,wwﬁwﬁ

36.

31/1/2 23 [P.T.O.

Wﬂ?ﬂﬁﬂﬁ%ﬁ%éﬁs@@ﬁ@%mm@maﬁﬁz
fﬁmﬁ%lﬁﬁaﬁﬂfﬁmwwﬁmm%ﬁm

List two observations which you make when you add a pinch of
sodium hydrogen carbonate to acetic acid in a test tube. Write

chemical equation for the reaction that occurs.

waﬁﬁawaﬁwm%ﬁﬁ@mmﬁaﬁaﬁ
ﬁ&mﬁaﬁ%aﬂtmﬁﬁnﬁwaﬁ&améwé?wm
%w%uﬁﬁaﬁﬂw%ﬁa@ﬁmﬁmmqﬁm%

TTY A BT 27



Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.
Draw the initial and the final stages of this type of reproduction.

State the event with which this reproduction starts.

31/1/2 24



